Určení části z celku - opakování
1.)Urči:
a).      ze 160 hrušek = 
b)    z  2700 mm = 
c)      z 320 kg = 
d)     z 450 stránek = 
e)     z 210 h = 
f)   ze 300 kostek = 
g)   ze 65 růží = 
h)    z 220 ha = 
2.) Urči:
a).     dm =   z  ………………..cm = …………… cm
b)     km =   z  ………………..m = …………… m

c)     m2 =   z  ………………..dm2 = …………… dm2

d)       ha =   z  ………………..a = …………… a

e)     m3 =   z  ………………..litrů = …………… l

f)     cm3 =   z  ………………..mm3 = …………… mm3

g)     kg =   z  ………………..g = …………… g

[bookmark: _GoBack]h)      t =   z  ………………..kg = …………… kg

i)     h =   z  ………………..min = …………… min

j)     min =   z  ………………..s = …………… s   
